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Subtract 8 on each side 

Divide 3 on each side. Do not 
reverse the inequality symbol. 

Place the solution set in the 
set-builder notation 

Add 2 on each side 

Simplify 

Subtract 5x on each side 

Simplify 

Divide -2 on each side; reverse 
the inequality symbol (when divide 
or multiply a negative number) 

Place the solution set in the 
set-builder notation. 

Solving Linear Inequalities and Compound Inequalities

    Steps for solving linear inequalities are very similar to the steps for solving linear 
equations.  The big differences are multiplying and dividing a constant on the inequalities 
and expressing the solution set. However, if you want to practice with solving linear 
equations, you can refer to the previous topic. (Topic 6) This handout will show some 
examples on how to solve linear inequalities and compound inequalities and how to express 
the solution sets of inequalities.

Solve Linear Inequalities

Example (1):  683 >+x

Solution:                86883 −>−+x
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   The solution set is 
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Example (2): 13523 +≥− xx  

Solution:        2135223 ++≥+− xx
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155553 +−≥− xxxx
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The solution set is 








−≤
2

15xx

Preview from Notesale.co.uk

Page 1 of 7


